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Answer the following questions: A ALY e waal

oEEy Mention the name of the rule ) Apalel) 30 ld) o Lo ]

= which controls the addition of an Jeliia dila) dlac a8a3
asymmetric reagent to an e oS Bl e
asymmetric alkene.

Explain why cyclo-propane is a il Glig ol Seaty WL 2
very active chemical.

Explain the reason for the absence Al g gl aad g3 Y 3 3
of free protons (H") in acidic Jlladdl 8 534 (HY)
aqueous solutions. ¢ alaad 450




ey, Explain by symbolic chemical LheS Alasy s 4

- equations the effect of passing L R SR E T
carbon dioxide gas in clear lime Jslae A g SIS
water solution for a short time and i lag @il pall el
then the effect of passing the gas AL sl sad 4 Sladl ) )
through the solution for a long

=a"5.  Calculate the electromotive force A yeSl) Axdal) 3 gall sl
- (emf) for the galvanic cell which anlddall 40al (emf)
consists of: © e A sS4

Copper half cell: [ Cu** ;g + 260 ——» Cu% , E°=+0.34V] (ubai{i cis
Zinchalfcell:  [Zn*q+28 —» Zn% , E°=-0.76V] pajis il cial




What is meant by lonic
equilibrium?

¢ @y‘}“

Explain by balanced chemical
equation the effect of strong heat
on Iron Il sulphate.

a8l Gl 1 4 3e
I aaadl Gy 5S Ll

Mention one similarity between
Copper and zinc and one difference
between copper and chromium in
view of the electronic configuration
of elements ( 24Cr, »Cu, 30Zn)

aad g cppea Al 5 Gulail)
ol G CaEAY aa
g5l e pa Ghas SN
po Al palial o3 STV
2oCu illy ,,Cr




Questions (9 — 11): (11 :9) A

‘aaf (‘J a3 yaal) )

Read the following sentence then answer: Ol 8 el il mes aa g
""Citric acid is found in lemon by a ratio ranging

between 5% :7 % , and it is one of the acids that ‘

are used in food industry” delia (8 daxdinall aleal) (e

nagae Y

525 <7 % 0 5% O s T Ay

Why Citric acid is used in food e ah—m Ll 9
preservation? ¢ a0y hada 8 el il

What is the basicity of citric paes dpeli e L]0

: ¢ &l i)
acid? i

Jsm Sl de gaaa g 5ila 11
S il (5853 g sall
el jiall Gaeal Shasl)

What is the type of the carbinol
group found in the chemical
structure of the citric acid?




=m"12. Choose the proper answer that best bl dasaal) Ajlay) j5a).12
. expresses the following balanced ;A s Jelith ¢

reaction : i
_ _ Nl(s) +4CO (@) s
Nig+4COq S NIi(CO)y, Ni (CO)s(g) ,
AH = - 603KJ AH = -603KJ
_ | e 3 CO 3& 3853345 (7)
(a) Increasing the concentration

of CO gas increases K, Jeliill K¢ 4ay
value of the reaction. e x5 8l A ey ()

Rising the temperature el Ke 4
incregses K. value of the e el dae pia (D)
reaction. , .

eloll K, 4

Decreasing the temperature : e

: Ni (CO)gile S5 pmis (-

increases K, value of the (CO)adte 55 ®
.d‘:w KC Zu_ﬁ C)A dj'é:\.

reaction.

Decreasing the concentration of
Ni (CO), gas decreases K. value
of the reaction.

O D) iy (oS 13
e IS (ALl J glaall
plaaiuly J i) 5 Jsaal)
¢ FeCl; Jslaa

How can you differentiate
between the aqueous solution of
phenol and ethanol by using FeClj;
solution?




Questions (14 — 16): : (116 : 14) Al

Study the graph below that represents the following A Sl JEN el
Reverse reaction: c Y il Jelall e e
2C0 +2NOg 5 2C0Oyq +Nyg

|
0
504

Energy KJ/mol 100+
gy KJ/ ]

Reaction

Calculate the value AH for the Jeldll AH 48 wual 14
forward reaction?

al 3l Jeladll 13a Ja .15

Is this reaction exothermic or
endothermic?

Calculate the value of the Jaydns 48l laie sl .16
activation energy for that
reversed reaction.




What is the role of hot zinc powder
In its reaction with phenol vapor?
Write the equation of the reaction.

Loashdl Hallle 17
£ sl Hay s aleld die
Jeladll Adatas S|

== 18. What is meant by the “Sacrificial
- electrode” ?

calaally " 3 patall La 18
?"M\

“A discussion took place between
a surgeon and a civil engineer
about the importance of iron
element ”

Mention one use of iron in the
profession of each of them according
to what you have studied.

Zlos b g Dl " 19
s Clell) aigay
Muaall paic Al

o wasllsas) g dsaal <Y
Legie S gl Jlanal

Sl dgas A"




SEm20.

Choose the proper answer that
expresses the following balanced
reaction shown in the diagram:

Concentration

el
@A+C—» B.
®A+B - 2C
©OA-B+2C
MM A-2B+C.

o5l Jeladl e 5l
S A )

A+C—- B (1)
A+B- 2C (9

A-B+2C &)

A-2B+C ()

Write the equation wused to
calculate the solubility product
Ksp for aluminum carbonate salt

Al Aol L) 21
Kep 413y deala sl
astie sl i g S

P73

Why does the concentrated nitric
acid cause passivity for iron?

Loalh Used 35S all




we®23. Calculate the pH value for Jslaad pH dad aual 23
= sulfuric acid 0.2M.

Questions (24 — 27): 2 (27 : 24) Al

Study the following statement then answer the el & 489 53l ()
guestions: ALY
13 4 3

plr?;gﬁ{:edP;r?g)rinfhaetereathioarll o?hz;g:)lﬁﬁi ()S)I\I/lvli)t%ugg Oo ) s oS0 !

organic acid (Y)”
"Y 5 sanll

WE®24, What are the necessary deldll 138 ¢l ja) by le 24
- conditions for the reaction to
be carried out successfully?

== 25. Write the names of the alcohol BEEXN VIS NP AN R
(X) and the acid (Y) that are Y Laeally X
used in the reaction.




e A5l dapall €I 26

-~

Write the structural formula of
this ester.

Name an isomer of this ester
that contains a carboxylic

A S Sl ) el il e 28
Jslaa (8 Cpa g gl

- What is the effect of passing a
- current of hydrogen sulphide 1 o) sy
gas in copper Il sulphate C)“L‘\)ﬁ“-‘” il
solution acidified by drops of ?&J;E}J;@\um
hydrochloric acid? ) )




Questions (29 — 30): tH-® : (130 : 29) Al

The figure represents two 7 % Gl e Jaal) JSEN juay
elelctrolytlc c(ejlls \1/:vhoseh_t TEE B le (ysilaia (pgildas
poles are made of graphite = ) = Bl E : Wl

the cells are connected in = | O Lese ‘;fﬂ.“;:'\
series, -l ]

Cell (2) (v} (v i Cell (1)

Write the equation that represents O Bl dalaall S) 29

the reaction occurring at the . ‘i*f‘éildc‘é.ﬂ\
cathode in cell (1). (V) Aal) 80 sl e

What happens to the ammeter ui:ﬂi‘ )ﬂ\{i\\tjso
reading on adding drops of silver j? “';dm e “a\; A
nitrate solution to the electrolyte cudy 5 ) Fdl

in cell (2)? Explain your answer. - .
(2)? Explainy i e € (Y) 2l




am 31.
|

Compare between:

Point of

. Organic compounds
comparison

Inorganic compounds

The
chemical
structure

s Al
skt

iy

Solubility

Ok g

Write down the chemical
equation that explains the role
of sodium hydroxide solution in
the manufacture of detergents?

eI Adalaal) € 32
Al Hsall ey Al
LS 5508 Jslae 4y a5
dclia (8 a5 suall




33! Explain this statement:
- “ Hydrolysis is an inverse
process for neutralization.

3okall ol yud 33
_Jalal)

Questions (34 — 36):

The opposite diagram represents
the structure of a fuel cell.

i

Anode Ca; hode

: (36 : 34) gl
AA 5 R JSA e g
R

Label the parts marked by
letters in the figure.

e Ly L (R
iy

Write down the equation
represents the whole reaction
occurred in this cell.

Jelall Asles i) - 35
Al sda 8 Golall K




Calculate the mass of hydrogen
gas consumed in this cell to
produce an electric current of
intensity 0.6 A lasting for 120

G goued Jle ABS sl 36
Z Uy sl oda b el
831 0.6 A ad o 5eS LS

un 37.
|

Mention the two main reasons
for using lithium in lithium ion
battery.

Ol ) SH 37
QS ) A a sl alasiny
el & sl 4 HUay




12 ml. of 0.2 M solution that
contains X™ jons  reacts
completely with 8 ml of 0.1 M
solution that contains Y™ ions to
form a salt whose empirical
formula is XnYm . Find the value
ofeachof m&n

Jolas (30 12 ml Jeleiy 38
e 652 0.2 M o S i3
8 ml e il XM s 5l
0.1 M oS5 dslas e
Yl e (s ging
A0l ) dlapa mle 0 o<l
e dSdad gl XnYm

What happens to the colour of
red bromine on adding 2 moles
of bromine dissolved in CClI,
solution to 1 mole of each of :

- Ethene?

- Aromatic benzene?

el ¢l Sy 53l L 39
Al dic peaY)
2 S s gl e 2 mol
1 mol ! CCl, Jslas
D Oe dS (e

e

?Q.m‘}!\ [}

S yhall cpyull o




What is the composition of water
gas? Mention the name of the
process used to convert it into
liquid fuel.

¢ Slall Ll ¢S Lae - 40
s i) 43y ylall ) S e
Jlaagy ) aly sa

- Mention two different methods
used to test for ammonia gas

oSl el oy )l SH 4]




am 42 Describe the saturated solution (il Jlaall Caa 42
- using the concept “ dynamic . -
equilibrium” in your description. Sl Ol ) mdlaias

Hydrogen gas reacts with iodine & el Jle Jeldiy 43
vapor to form hydrogen iodide ol cnsSilasd) lag
gas according to the equation : Lt O s o) w3 s

H2(g) + |2(v) s 2H|(g) - dlalaall
Hag) + law) 2Hl)
How could you know that the Jeliil) J gy e i paii (oS

reaction has reached the L2l o5 e oY) s Y
equilibrium state from the ) ‘

colour of the gaseous mixture?




Write the chemical equation A Aibaassl) Aalaall ST 44
that explains the elimination of s & i Adas i
a water molecule from two G0 O (e sle
molecules of ethanol.

LEE45.  Shade the circle next to the Aoleadl AL 8 5l Jik .45
. chemical process that doesn’t al oy @L‘Qj“‘“h“‘ﬁ‘
produce water as a resultant : D elall Leadl 58

Aspirin formation o) 5 (1)

Ethanol oxidation oty 5 L

Olig o (A oll (oS3

Poly propylene formation

Ethane burning

oY) Gl s

il Aales €V - 46
s oSall Al

== 46. Write down the equation of
- sucrose aqueous hydrolysis.




22®47. The graph below records the height of G Al Sl sy 47
- the precipitate formed (in a test Lsal B oSl ) gl )
tube) on adding sodium hydroxide Jolae  dla) 2o lual
solution to iron 111 chloride solution. Jslas ) assa 2y 0
Illustrate on the same graph the o e s ] pas 3y )5S
change that could happen on the G clall el ol Jsa
curve when e_xchanging iron 11 Jlae Jlasind v sl JS&
chloride solution by aluminum 55 Jglaas 111 aeall 45K

chloride solution, with explanation. . )
P .‘):Lms..\j\ &= cejglnjl\

A

Precipitation
height (mm)

Volume of NaOH Solution (mL)

LEE48. Write the structural formula and the Al daall S) 48

. IUPAC name for a secondary alcohol Jsasd ‘fJ‘ﬁ-ﬁYf w?
and a tertiary alcohol which have the o Lagd (A5 AL 555
same molecular structure C,H;,0 .CaH100 4 sall Aapall




Write the chemical equation that PBRESEREERES %hbu iS) 49
represents the esterification O Bl dr—lsn o
reaction between a dihydric alcohol dﬂ“%ﬁﬁ*éi‘ «f‘-u d)=5
and a dibasic organic acid U as (aen

Mention the name of the law du Al Gl and S50
that indicates the equivalent Al ALS deliai e
mass of chlorine gas evolving at de M e il a
the anode of an electrolytic cell O ) 2ie AaLlat AR 5 g
on passing an amount of a late el SN (e dS
electricity equals one faraday in ERXPREE
the electrolyte used in this cell. L ariiusdl a5 SIY)

nuu._é.gss.ub ULU.OJJ' hubi &0
















